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Instructions:

E4AA:
E 4 MAL

> Question number 1 to 20 are of short answer type.
%1 E20 BHREEE,
%1 E 20 BHREEE,
> Each question carries 10 marks.
BREL 10 7
BES 107,

Write all possible two-digit numbers using the given digits. The digits can be repeated.

BRANTHY , SHAEMAUE , BFUEEEM.

CRNTHT , EHMAERLE , BFTEEFEH.


mac


2)

What is the sum of all numbers from 1 to 15?
EE1E1SHNFEEFZNRZ D ?

BRI 1 Z15HFMEREZNRZD ?

What is the missing number in the sequence: 2, 4, 8, __, 32?

AL TBIIRRNBFRITE : 2,4,8,__, 327

FRATHIRRIBFRITA :2,4,8,_,327

If you have 4 friends and you want to give each of them 2 rabbit stickers and 1 cat sticker , how
many stickers do you need in total?

BEREEEBRR , MRBE THRMASAMKRRFBER —RERE  FBREMR
HEBRZDRAGE 2

BEREOMNAR , MRS TFRMNEAFWKRFREER —KEWEEK , FHER

HEBZ DKWL ?



S)

How many legs do 2 elephants and 3 chickens have in total?

EEMEARN=ERRESOER 2

BABRARN= QB RS D R 2

If you wake up at 7 o'clock in the morning and sleep for 10 hours, what time will you wake up?
HIRE L 7 RE2IK , WHET 10 N, BRERMBERERSERERK?

ERBLE7 SEEK, HET 10 /DEt , BRRAHTALRESBREK ?

There are 10 pencils in a bundle and there are 8 bundles with 2 pencils remaining.

How many pencils are there altogether?

AR 10 28 - HER RS RIS © SRS 5 )y 2
AR 0 K BER ) UR SR E » B 5D 7

Put two of the numbers in group A and the others two in group B. The total of numbers in each
group must be same.



EEAMERFHRE A BNSAMERE B A , 15 AHEN B AT 2
%,

EEARNRFTREAANBAFINREBEH , 15 AEN B ANKF MM

F,

Group A Group B

Find P + Q.
A H P+Q,
B H P+Q,

10)

| am a two-digit number. My digits add up to 9. The digit in my ones place is twice the digit in
tens place. What number am 1?

BREMLE. RNBFZNMR 9, AR T UBHIWME, FRARRMTE?
BENMANYE. BRNBFZNR 9, MBERHUBNFE, BRERTAL?

11)

Arrange the following from the smallest to greatest.
EILTEF RN K BE,
BT EHFEM NI KHE,



A: 2 tens + 5 ones
2@+ +5{@—
2t +540—

B: 3 tens + 4 ones
3E+ +4E—
3t +4 -

C: 2tens + 6 ones
2@+ +6@—
2t +6 10—

12)

The clock shows the time when John goes to school. John returns to home after 6 hours and 30
minutes. When will John return to home?

UTRERRBS EENEE , A6 /NIF30 2BERER , BRNEBTERR
B F=R ?
UTEtHs E RAE EXMetE |, T 6 /et 30 D8 EEIR |, HEABT LR

B FZR ?




13)

Sara has a ribbon that is 45 cm long. She wants to cut it into three equal pieces and make a
shape. What will be the shape?

ﬁﬁ
i
=

XEE R 45 EXRVE , B ERH B =FN LK MR ,
FEFAR ?

EMNBE—%R 45 EXRKNEAE , wBIEXBER=FHHER TR , BRIXZ4

AFAR ?

14)

If you fold a piece of paper twice, how many equal parts will you have?
BRERIE—RIEHITRX , FRARSEESDEEFH ?
BEMRE—KEXNFTHX , BERRXBHZDOINEHR ?

15)

Which shapes make up the arrow?
A EE AR A T EiE ?
BRI AEFER RTS8 ?

—>

Circle, Oval EIFZ R #5 B B 72K A% B 72

Triangle, Rectangle = AXRER A =AERKFF
Rectangle, Circle & A X R B 75 & E

Oval, Triangle fsE R =AF HMEF R =A

(

(B
(C
(D
(

—_— — — ~— X~



16)

Which of the following represents 3 hours?

B TH—IEAR 3 NE?
FRATH—BI K 3 et ?

(a) 60 minutes + 60 minutes
60 & + 60 7 iE
60 %0 + 60 7 £F

(b) 60 minutes
60 2 82
60 7 &
(c) 60 minutes + 60 minutes + 60 minutes
60 788 + 60 7 #E + 60 77 &&
60 7% + 60 7% + 60 7 %F

(d) 60 minutes + 60 minutes + 60 minutes + 60 minutes
60 788 + 60 7#E + 60 778 + 60 &
60 % + 60 74 + 60 & + 60 &



17)

Mable asks 15 students their favorite sport.
ERfT7T 15 EREERLMREENESR,
EEE T 15N FEEXRENEEEZNEZEF,

Sport Number of students
EE BLEE

yeg)| FERE

Rugby 4
Bk
i BK

Soccer 11
JiE>
JiE>

Tennis 5
Tk
P Bk

How many students chose more than one sport?
ZRZVDBEFET S —12EH ?
BRRSAEZDFEEERETZT T ?



18)

A=6, B=7, C=8, D=6. Choose the correct option.
A=6, B=7,C=8,D=6 , HRHEREXE,
A=6, B=7, C=8, D=6 , Fit H ERZEXR,

(a) (A+B) > (C+D)
(b) (A+B) < (C+D)
(c) (A+B) = (C+D)

19)

The missing number in the boxis .
FFERPHE FVEEE -
T HERHE VR -

6 4
o 9
4 5




20)

Study the pattern

BEUTRE

MELLT M

40
12 | 7

36

32

L

What is the missing number?
A HARBIE EN BT

B HABE LT,

w

B N

END OF PAPER
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